IR AT KL
NG SR
Doy — TUE=HNT =S
Hfrtgz RS (R 2. ] a—R4
NV N EIL =TS
F5F TH O SE 52N A K — S 1502m
T 4=y W 1213m
ks =y o 5Z=N R 7 289m
RET A — 9 No. SAJ24-GS-50/91
1AH 2 KH
a— 2ty X — T aE [l B ] a— Ry X — A BE [l B ]
AIEH - A - = H [ %0] AiEH - A - =5 (5 50]
AiEH - B - /N (5 %0] AiE#H - B - N (5 50]
piE#E - C - + 2 (5 %0] AiE#H - C - 1= (% %n]
TP % 40 (40) A A — R 9:00 TR % 40 (40) S AN 11:45
P23 <HY e Soft KA <HD EY Soft
2B —K/T 4= 2K -3.1°C / -2.1C 2B—K/T 4=y kIR -2.1°C / -0.3C
F=870
JIERT A4=h =V 1A 240 A& &
No No K4 B B 4 1R L3 15 I (1
1 1 963191 ¥ HH SR 1:48.78 1:52.18 3:40.96
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFTED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFTED [2nd RUN] 0
Bt =al B [l . ]
/ G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



INFEHEIR TS A PNEILR
NG SR
Doy — I =NNT—H
Hfrtgz ST (R 2. ] a—R4
NV N EIL =TS
F5F TH O SE 52N A K — S 1502m
T4 = S 1213m
ks =y o 5Z=N R 7 289m
RET A — 9 No. SAJ24-6S-50/91
1AH 2 KH
a— Aty H— T aE (R B ] a— 2ty X — A B [l B ]
AIEH - A - = H [ %n] AiEH - A - 5 (% %0 ]
AiEH - B - /N [ %n] AiE#H - B - AN (%% %0 ]
AiEH - C - + = [ %n] AiE#H - C - 1= (% %n]
TP % 40 (40) A A — R 9:00 TR % 40 (40) S AN 11:45
P23 <HY e Soft KA <HD EY Soft
2B —K/T 4= 2K -3.1°C / -2.1C 2B—K/T 4=y kIR -2.1°C / -0.3C
F=870
JIERT A4=h - EERE 1AH 2AKB & &
No No K4 T B 4 1R L3 15 I (1
1 3 964874 NI phgE A7 99 1:28.39 1:31.82 3:00.21
2 6 969600 Tk BEt LiFn 1:34.71 1:37.63 3:12.34
3 2 963193 K EA—HB 2SR IL 2:01.14 2:03.57 4:04.71
DID NOT START [1st RUN] 2
4 959497 K MR A%
5 964871 iy R I
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
/ G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



INFAAREAE T+

F=870
[[EV A BN =N BEE 1AH 2KH & i
No No K4 BB 4 S L I = L I = |
DISQUALIFIED [2nd RUN] 0
HEiRE =a0 B [ g7 B2 ]
/ G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



AN E AT K
NG SR
Cay— T =NNT =4
B RS (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y a 1213m
ks =y o 5Z=N R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a— Rty H— TH SE [l B ] I— ATy H— A B (57 5]
ISR - A - = [Z50] BIER - A - S [Z50]
HiAESR - B - /N [%50] HIEH - B - N [ H]
HiE#H - C - +=E [%50] HiEHR - C - + )= (5 50]
TP % 40 (40) A A — R 9:00 TR % 40 (40) S AN 11:45
P23 <HY e Soft KA <HD EY Soft
2B —K/T 4= 2K -3.1°C / -2.1C 2B—K/T 4=y kIR -2.1°C / -0.3C
F=870
JIERE  A%=} -p BEEE 1AH 2A4AH A Ft
No No K4 B 4 I~ 17 S |
1 9 959169 —HI =< e 1:22.60 1:25.86 2:48.46
2 8 963190 /I HHHTE R RV 1:54.59 1:55.06 3:49.65
DID NOT START [1st RUN] 1
7 953557 #En = Doing
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
it =al B [l . ]
/ G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



INFEAEEAE S T Kl
NG SR
Vo) — T =NNT—H
B RS (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y H 1213m
ks =y o 5Z=N R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a— Rty H— TH SE [l B ] I— ATy H— A B (57 B ]
ISR - A - = [ %0] AiEH - A - =5 (5 50]
HiAESR - B - /N (5 %0] AiE#H - B - N (5 50]
piE#E - C - + 2 (5 %0] AiE#H - C - 1= (5 50]
TERH 40 (40) R A2 — N 9:00 R %R 40 (40) A Z— [EFfE 11:45
P23 <H0 EYE Soft KA <HD EY Soft
AL —K/T7 4=y 2R -3.1°C / -2.1C AL —K/T7 4=y a R -2.1°C / -0.3°C
F=870
JIERE  A%=} -p BEEE 1AH 2A4AH A Ft
No No K4 Fr B 4 BF M EF [ Hif Ei]
1 10 951549 L1 &K R 1:14.11 1:16.30 2:30.41
2 11 955858 ‘HiE ik AT 1:19.45 1:22.41 2:41.86
3 13 939760 “Z2H  FRYE R 1:23.84 1:2427 2:48.11
4 14 952299 /Mg fEsk VA AV 1:24.24 1:28.85 2:53.09
5 21 953561 [HuE & AT T 1:27.45 1:30.35 2:57.80
6 22 969598 ikl ) LiEn 1:28.54 1:34.12 3:02.66
7 18 950987 EuE  URIN REL 1:30.69 1:33.07 3:03.76
8 20 971408 “ZiE B Doing 1:31.05 1:32.88 3:03.93
9 17 958425 FkH {FMk S C 1:32.82 1:33.17 3:05.99
10 12 947440 LI K 2SR 1:34.99 1:32.97 3:07.96
11 19 950989 JEFR —i» SRR 1:33.79 1:37.44 3:11.23
DID NOT START [1st RUN] 2
15 947429 HE 7O
16 965426 47 FEN N RV
/ G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



N T

F=870
JIEAL Ad=] =N BEE 1AH 2AH A& 3
No No K4 Fr B 4 BF [ OBF M KR O
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
HEiRE B8 B [l 2. ]
/ G8/ 2

DATA PROCESSING by SE I KO TIMING by SETKO



Hh SR A - PNEI[ R
NG SR
Doy — TUE=HNT =S
Hfrtgz ST (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y W 1213m
ks =y o 5Z=N R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a—RAt X — TH SE [l B ] I— ATy H— A B (57 B ]
ISR - A - = H [ %0] AiEH - A - =5 (5 50]
HiAESR - B - /N (5 %0] AiE#H - B - N (5 50]
piE#E - C - + 2 (5 %0] AiE#H - C - 1= (% %n]
TP % 40 (40) A A — R 9:00 TR % 40 (40) S AN 11:45
P23 <HY e Soft KA <HD EY Soft
2B —K/T 4= 2K -3.1°C / -2.1C 2B—K/T 4=y kIR -2.1°C / -0.3C
F=870
JIERT A4=h =V 1A 240 A& &
No No K4 B B 4 I~ 17 S |
1 26 947434 EAT RE %S C 1:19.42 1:22.25 2:41.67
2 23 955859 HyH: A4t M ANE 1:20.29 1:21.64 2:41.93
3 25 931028 3 FEE 2SR 1:22.30 1:24.33 2:46.63
4 27 931026 A = RERL 1:29.72 1:31.33 3:01.05
5 28 970169 & B7Th L =TRC 1:30.39 1:35.72 3:06.11
DID NOT START [1st RUN] 1
24 959858 EHH AKHE T
DID NOT FINISH [1st RUN] 0
DISQUALIFTED [1st RUN] 0
DID NOT START [2nd RUN] 0
/ G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



e 1

F=870
[[EV A BN =N BEE 1AH 2KH & i
No No K4 BB 4 S L I = L I = |
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
HEiRE B8 B [l 2. ]
/ G8/ 2
DATA PROCESSING by SE I KO

TIMING by SETKO



GEZ R Kl

NG SR
Cay— T =NNT =4
B RS (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y W 1213m
ks =y o [l 5] R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a— Rty H— TH SE [l B ] I— ATy H— A B (57 B ]
ISR - A - = [ %0] BIER - A - =5 (5 50]
HiAESR - B - /N (5 %0] HIEH - B - N (5 50]
piE#E - C - + 2 (5 %0] HiEHR - C - + )= (5 50]
TP % 40 (40) A A — R 9:00 TR % 40 (40) S AN 11:45
P23 <HY e Soft KA <HD EY Soft
2B —K/T 4= 2K -3.1°C / -2.1C 2B—K/T 4=y kIR -2.1°C / -0.3C
F=870
JIERE  A%=} =V 1A 240 A& &
No No K4 B B 4 I~ 17 S |
1 29 916185 f#3k: 13 XKL 1:12.40 1:13.88 2:26.28
2 31 924251 HEH: i ARN,% 1:12.99 1:14.37 2:27.36
3 30 951548 AEIL kR B 1:13.10 1:14.61 2:27.71
4 33 940815 #B)I EBR AT G 1:16.01 1:17.77 2:33.78
5 37 953549 [HY EEsT — B A% 1:23.92 1:24.99 2:48.91
6 35 959086 AN HERE R RV 1:24.79 1:25.14 2:49.93
7 38 971293 +® A — BT A% 1:25.30 1:27.06 2:52.36
DID NOT START [1st RUN] 2
34 947435 KR BT BH&ESC
36 958420 Ak WA A7 70
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
/ G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



F=870
[[EV A BN =N BEE 1AH 2KH & i
No No K4 B 4 BF [ OBF M KR O
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN]
32 958426 kM M&A #ES C
DISQUALIFIED [2nd RUN] 0
itz =an B [l 2. ]
/ G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



A A PGS
NG SR
Tal— T =T — R
Hfrtgz RS (R 2. ] a—R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y W 1213m
ks =y o [l 5] R 7 289m
RET A — 9 No. SAJ24-GS-50/91
1AH 2 KH
a—RAt X — TH SE [l B ] a—At v H— A B (57 B ]
AIEH - A - = H [ %0] AiEH - A - =5 (5 50]
AiEH - B - /N (5 %0] AiE#H - B - N (5 50]
piE#E - C - + 2 (5 %0] AiE#H - C - 1= (% %n]
TP % 40 (40) A A — R 9:00 R %R 40 (40) S AN 11:45
P23 <HY e Soft KA <HD EY Soft
2B —K/T 4= 2K -3.1°C / -2.1C 2B—K/T 4=y kIR -2.1°C / -0.3C
F=870
JIERT A4=h =V 1A 240 A& &
No No K4 B B 4 I~ 17 S |
1 39 957928 KFEO XFHF £ B 1:22.10 1:23.47 2:45.57
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFTED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFTED [2nd RUN] 0
Bt =al B [l . ]
/ G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



NS PGS
NG SR
Doy — TUE=HNT =S
Hfrtgz RS (R 2. ] a—R4
NV N EIL =TS
F5F TH O SE 52N A K — S 1502m
T 4=y W 1213m
ks =y o 5Z=N R 7 289m
RET A — 9 No. SAJ24-GS-50/91
1AH 2 KH
a— 2ty X — T aE [l B ] a— Ry X — A BE [l B ]
AIEH - A - = H [ %0] AiEH - A - =5 (5 50]
AiEH - B - /N (5 %0] AiE#H - B - N (5 50]
piE#E - C - + 2 (5 %0] AiE#H - C - 1= (% %n]
TP % 40 (40) A A — R 9:00 TR % 40 (40) S AN 11:45
P23 <HY e Soft KA <HD EY Soft
2B —K/T 4= 2K -3.1°C / -2.1C 2B—K/T 4=y kIR -2.1°C / -0.3C
F=870
JIERT A4=h =V 1A 240 A& &
No No K4 B B 4 1R L3 15 I (1
1 40 955857 EiE i AT 1:15.34 1:16.97 2:32.31
DID NOT START [1st RUN] 1
41 949713 B B KEA = al=l
DID NOT FINISH [1st RUN] 0
DISQUALIFTED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFTED [2nd RUN] 0
it =an B [l . ]
/ G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



#1655k fX PNEILR

NG SR
Tal— T =T — R
Hfrtgz RS (R 2. ] a—R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y W 1213m
ks =y o [l 5] R 7 289m
RET A — 9 No. SAJ24-GS-50/91
1AH 2 KH
a— 2ty X — TH SE [l B ] a— Ry X — A BE [l B ]
AIEH - A - = H [ %0] AiEH - A - =5 (5 50]
AiEH - B - /N (5 %0] AiE#H - B - N (5 50]
piE#E - C - + 2 (5 %0] AiE#H - C - 1= (% %n]
TP % 40 (40) A A — R 9:00 TR % 40 (40) S AN 11:45
P23 <HY e Soft KA <HD EY Soft
2B —K/T 4= 2K -3.1°C / -2.1C 2B—K/T 4=y kIR -2.1°C / -0.3C
F=870
JIERT A4=h =V 1KH 2AKB H F L—2x
No No K4 B B 4 BE M OB R ORF ORI RAU
DID NOT START [1st RUN] 1
42 949712 (U@ EHRT N
DID NOT FINISH [1st RUN] 0
DISQUALIFTED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFTED [2nd RUN] 0
it =an B [l . ]
/ G8/ 1

DATA PROCESSING by SE I KO TIMING by SETKO



55N Klalfiz
NG SR
Tal— T =T — R
Hfrtgz RS (R 2. ] a—R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y W 1213m
ks =y o 5Z=N R 7 289m
RET A — 9 No. SAJ24-GS-50/91
1AH 2 KH
a—RAt X — T aE [l B ] a—At v H— A B (57 B ]
AIEH - A - = H [ %0] AiEH - A - =5 (5 50]
AiEH - B - /N (5 %0] AiE#H - B - N (5 50]
piE#E - C - + 2 (5 %0] AiE#H - C - 1= (% %n]
TP % 40 (40) A A — R 9:00 TR % 40 (40) S AN 11:45
P23 <HY e Soft KA <HD EY Soft
2B —K/T 4= 2K -3.1°C / -2.1C 2B—K/T 4=y kIR -2.1°C / -0.3C
F=870
JIERT A4=h =V 1A 240 A& &
No No K4 B B 4 1R L3 15 I (1
1 43 038063 f%iE FHE V)~ LT 1:21.56 1:24.14 2:45.70
DID NOT START [1st RUN] 1
44 445093 EHARJE/INMEF —5
DID NOT FINISH [1st RUN] 0
DISQUALIFTED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFTED [2nd RUN] 0
it =an B [l . ]
/ G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



A A55R A Klalfiz
NG SR
Doy — TUE=HNT =S
Hfrtgz ST (R 2. ] a—R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y W 1213m
ks =y o 5Z=N R 7 289m
RET A — 9 No. SAJ24-GS-50/91
1AH 2 KH
a—RAt X — TH SE [l B ] a—At v H— A B (57 B ]
AIEH - A - = H [ %0] AiEH - A - =5 (5 50]
AiEH - B - /N (5 %0] AiE#H - B - N (5 50]
piE#E - C - + 2 (5 %0] AiE#H - C - 1= (% %n]
TP % 40 (40) A A — R 9:00 TR % 40 (40) S AN 11:45
P23 <HY e Soft KA <HD EY Soft
2B —K/T 4= 2K -3.1°C / -2.1C 2B—K/T 4=y kIR -2.1°C / -0.3C
F=870
JIERT A4=h =V 1A 240 A& &
No No K4 B B 4 1R L3 15 I (1
1 45 083632 ZHjE HiT H & 1:17.72 1:19.64 2:37.36
2 48 071280 BN T U A 1:23.68 1:24.80 2:48.48
3 46 872629 EMWH 4T HhU 1:32.26 1:31.64 3:03.90
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 1
47 956993 =1 ZHET B hY
DISQUALIFTED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
/ G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



L4555

F=870
[[EV A BN =N BEE 1AH 2KH & i
No No K4 BB 4 S L I = L I = |
DISQUALIFIED [2nd RUN] 0
HEiRE =80 B [ g7 B2 ]
/ G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



I A-355% A\ Klalfiz
NG SR
Tal— T =T — R
Hfrtgz RS (R 2. ] a—R4
NV N EIL =TS
F5F TH O SE 52N A K — S 1502m
T 4=y W 1213m
ks =y o 5Z=N R 7 289m
RET A — 9 No. SAJ24-GS-50/91
1AH 2 KH
a—RAt X — T aE [l B ] a—At v H— A B (57 B ]
AIEH - A - = H [ %0] AiEH - A - =5 (5 50]
AiEH - B - /N (5 %0] AiE#H - B - N (5 50]
piE#E - C - + 2 (5 %0] AiE#H - C - 1= (% %n]
TP % 40 (40) A A — R 9:00 TR % 40 (40) S AN 11:45
P23 <HY e Soft KA <HD EY Soft
2B —K/T 4= 2K -3.1°C / -2.1C 2B—K/T 4=y kIR -2.1°C / -0.3C
F=870
JIERT A4=h =V 1A 240 A& &
No No K4 B B 4 1R L3 15 I (1
1 49 089878 KB H1 YL YAL 1:17.89 1:20.42 2:38.31
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFTED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFTED [2nd RUN] 0
Bt =al B [l . ]
/ G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



#1255 A% PNEILR

NG SR
Doy — TUE=HNT =S
Hfrtgz RS (R 2. ] a—R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y W 1213m
ks =y o 5Z=N R 7 289m
RET A — 9 No. SAJ24-GS-50/91
1AH 2 KH
a—RAt X — TH SE [l B ] a—At v H— A B (57 B ]
AIEH - A - = H [ %0] AiEH - A - =5 (5 50]
AiEH - B - /N (5 %0] AiE#H - B - N (5 50]
piE#E - C - + 2 (5 %0] AiE#H - C - 1= (% %n]
TP % 40 (40) A A — R 9:00 TR % 40 (40) S AN 11:45
P23 <HY e Soft KA <HD EY Soft
2B —K/T 4= 2K -3.1°C / -2.1C 2B—K/T 4=y kIR -2.1°C / -0.3C
F=870
JIERT A4=h =V 1KH 2AKB H F L—2x
No No K4 B B 4 BE M OB R ORF ORI RAU
DID NOT START [1st RUN] 1
50 923214 HEE ART Doing
DID NOT FINISH [1st RUN] 0
DISQUALIFTED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFTED [2nd RUN] 0
it =an B [l . ]
/ G8/ 1

DATA PROCESSING by SE I KO TIMING by SETKO



2125 mR AT PNEILR
NG SR
Tal— T =T — R
B RS (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y W 1213m
ks =y o 5Z=N R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a— Rty H— TH SE [l B ] I— ATy H— A B (57 B ]
ISR - A - = [ %0] AiEH - A - =5 (5 50]
HiAESR - B - /N (5 %0] AiE#H - B - N (5 50]
piE#E - C - + 2 (5 %0] AiE#H - C - 1= (% %n]
TP % 40 (40) A A — R 9:00 TR % 40 (40) S AN 11:45
P23 <HY e Soft KA <HD EY Soft
2B —K/T 4= 2K -3.1°C / -2.1C 2B—K/T 4=y kIR -2.1°C / -0.3C
F=870
JIERE  A%=} =V 1A 240 A& &
No No K4 B B 4 I~ 17 S |
1 51 962187 ¥ HH 7 UAK 1:34.45 1:34.89 3:09.34
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFTED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFTED [2nd RUN] 0
Bt =al B [l . ]
/ G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



BT 15K PNEILR

NG SR
Doy — TUE=HNT =S
Hfrtgz RS (R 2. ] a—R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y W 1213m
ks =y o 5Z=N R 7 289m
RET A — 9 No. SAJ24-GS-50/91
1AH 2 KH
a—RAt X — TH SE [l B ] a—At v H— A B (57 B ]
AIEH - A - = H [ %0] AiEH - A - =5 (5 50]
AiEH - B - /N (5 %0] AiE#H - B - N (5 50]
piE#E - C - + 2 (5 %0] AiE#H - C - 1= (% %n]
TP % 40 (40) A A — R 9:00 TR % 40 (40) S AN 11:45
P23 <HY e Soft KA <HD EY Soft
2B —K/T 4= 2K -3.1°C / -2.1C 2B—K/T 4=y kIR -2.1°C / -0.3C
F=870
JIERT A4=h =V 1A 240 A& &
No No K4 B B 4 1R L3 15 I (1
1 52 091973 WhmH EHW TR L 1:28.28 1:32.12 3:00.40
2 57 089831 KA HEK Ligh 1:33.76 1:35.31 3:09.07
3 53 014223 {RHE & — BT A% 1:57.45 1:51.32 3:48.77
4 55 014271 {FE FEH — BT 2% 2:03.25 2:07.14 4:10.39
DID NOT START [1st RUN] 1
54 118678 A% IEFK LiFh
DID NOT FINISH [1st RUN] 1
56 956992 ET  TEK VY
DISQUALIFTED [1st RUN] 0
DID NOT START [2nd RUN] 0
/ G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



BA15mAR

F=870
[[EV A BN =N BEE 1AH 2KH & i
No No K4 BB 4 S L I = L I = |
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
HEiRE B8 B [l 2. ]
/ G8/ 2
DATA PROCESSING by SE I KO

TIMING by SETKO



76551k PNEILR

NG SR
Tal— T =T — R
B RS (R 2. ] a— R4
DA KAl 2 — R
g TH AE [l £ A A — IR 1502m
T 4=y H 1213m
ks =y o 5Z=N R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a— 2ty X — TH SE [l B ] O—RAyH— A B (R B ]
ISR - A - = [ %0] BIER - A - S (5 50]
HiAESR - B - /N (5 %0] HIEH - B - /N (5 50]
HiE#H - C - + )= (5 %0] HiEHR - C - + )= (5 50]
RGeS 40 (40) R A2 — N 9:00 R %R 40 (40) A K — R 11:45
P23 <HY e Soft KA <HD EY Soft
AR—hN/T7 4=y aKIR -3.1C / -2.1C AB—hN/T 4=y 2R -2.1°C / -0.3C
F=870
JIERE  A%=} -p BEEE 1A 240 A& &
No No K4 B B 4 I~ 17 S |
1 58 051699 =% {87 LiFh 1:19.57 1:19.96 2:39.53
2 59 028186 g i AT 1:20.39 1:23.00 2:43.39
3 61 964070 Il FEH LiEn 1:23.27 1:2426 2:47.53
4 65 123761 #K g HrH A 1:31.13 1:34.83 3:05.96
5 67 039164 LR mukE — &A% 1:34.38 1:34.45 3:08.83
6 62 445162 G =M N 1:37.26 1:34.77 3:12.03
7 63 030947 ‘mF EiE N 1:38.13 1:37.14 3:15.27
8 70 952220 [LUH s AT T 1:44.62 1:53.87 3:38.49
DID NOT START [1st RUN] 4
64 078733 TEE BAEE DENSO
66 891814 ZHZ T AL L =T7RC
69 910206 TEHIL B A
71 018985 BRIl IEf# N
/ G8/ 1

DATA PROCESSING by SE I KO TIMING by SETKO



F+-65mAX

F=870
JIERE AB=] =N BEE - 1R 2A&KH & 7
No No K4 Fr B 4 BF [ OBF M KR O
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 1
60 096995 FE BT H k7 GATE No. 32 , AA wF v u
DID NOT START [2nd RUN] 1
68 054640 [UH I1EH B W
DID NOT FINISH [2nd RUN] 1
72072972  KEF thEH A/ KRV
DISQUALIFIED [2nd RUN] 0
it =an B [l 2. ]
/ G8/ 2

DATA PROCESSING by SE I KO TIMING by SETKO



BB 5551\ Klalfiz
NG SR
Vol — T =HNT =4
Hfrtgz RS (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y H 1213m
ks =y o [l 5] R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a—RAt X — TH SE [l B ] a—At v H— A B (57 B ]
AIEH - A - = H [ %0] AiEH - A - =5 (5 50]
HiAESR - B - /N (5 %0] AiE#H - B - N (5 50]
piE#E - C - + 2 (5 %0] AiE#H - C - 1= (5 50]
TR %R 40 (40) A K — R 9:00 R %R 40 (40) A Z— [EFfE 11:45
P23 <HY EYE Soft KA <HD EY Soft
AR—hN/T7 4=y aKIR -3.1C / -2.1C AB—hN/T 4=y 2R -2.1°C / -0.3C
F=870
JIERE  A%=} -p BEEE 1AH 2A4AH A Ft
No No K4 B B 4 I~ 17 S |
1 75 039052 (L FHF| NSRRI 1:22.76 1:18.16 2:40.92
2 79 445376 +H IFE DENSO 1:19.46 1:22.03 2:41.49
3 82 037833 1&g FHff U ~yL5 1:20.56 1:21.54 2:42.10
4 74 086268 HIH 5 BT 1:18.19 1:24.00 2:42.19
5 76 097414 E) B — BT A F— 1:21.29 1:22.04 2:43.33
6 77 027734 WEH i TIFAN =} 1:21.25 1:22.97 2:44.22
7 81 069595 HrBH & DENSO 1:22.04 1:22.65 2:44.69
8 83 061444 /NBEFH Bk TA 1:23.06 1:24.73 2:47.79
9 92 932995 K& b2 U7 1:23.62 1:24.75 2:48.37
10 84 111909 Ry = * F 1:23.97 1:2515 2:49.12
11 94 906257 #EAk HEXK W 1:27.09 1:25.88 2:52.97
12 86 087848 KIK EAT INERAE 1:26.87 1:27.70 2:54.57
13 85 118221 Hifm wB SRV N 1:31.68 1:24.23 2:55.91
14 91 113883 f&zk [EHE DENSO 1:28.24 1:28.85 2:57.09
15 89 093106 A FHiE LiFh 1:28.72 1:30.83 2:59.55
/ G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



F+-55mAR

F=870
JIERE AB=] =N BEE - 1R 2A&KH & 7
No No K4 Fr B 4 BF [ OBF M KR O
16 93 027312 AH EE=E WU 1:35.24 1:25.82 3:01.06
17 87 087514 Kk —_ NERAE! 1:39.37 1:25.44 3:04.81
18 88 084143 EEFREIIKAER Al—A 1:32.11 1:33.48 3:05.59
DID NOT START [1st RUN] 3
73 049405 3R F R VRN
80 024278 £ Cagire 3 =7FRC
95 101757 M i TA
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 3
78 024803 MEE KW * T
90 036349 JEH 73 NERAE
96 035129 EEA  FliE TR
DISQUALIFIED [2nd RUN] 0
it =an B [l 2. ]
/ G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



BB A 45584 Klalfiz
NG SR
Vol — T =HNT =4
B RS (R 2. ] a— R4
DA KAl 2 — R
g TH AE [l £ A A — IR 1502m
T 4=y H 1213m
ks =y o 5Z=N R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a— 2ty X — TH SE [l B ] O—RAyH— A B (R B ]
ISR - A - = [ %0] BIER - A - S (5 50]
HiAESR - B - /N (5 %0] HIEH - B - /N (5 50]
HiE#H - C - + )= (5 %0] HiEHR - C - + )= (5 50]
RGeS 40 (40) R A2 — N 9:00 R %R 40 (40) A K — R 11:45
P23 <HY EYE Soft KA <HD EY Soft
AR—hN/T7 4=y aKIR -3.1C / -2.1C AB—hN/T 4=y 2R -2.1°C / -0.3C
F=870
JIERE  A%=} -p BEEE 1AH 2A4AH A Ft
No No K4 B B 4 I~ 17 S |
1 97 100709 HH e V)~ LT 1:13.68 1:13.56 2:27.24
2 99 016703 B[f  ZH F T 1:15.78 1:16.78 2:32.56
3 106 110102 JHH = B R 1:18.28 1:18.96 2:37.24
4 102 073070 HiE  kESR U~ LT 1:19.40 1:19.31 2:38.71
5 109 115915 RELS  [E# B e 1:19.57 1:20.71 2:40.28
6 107 091497 FBF FEE Al —A 1:20.81 1:21.13 2:41.94
7 125 904690 EA i — B A% 1:20.45 1:22.24 2:42.69
8 104 126428 ®E A B hU 1:24.49 1:18.96 2:43.45
9 111 914801 B PE— — BT A% 1:22.48 1:23.36 2:45.84
10 113 919921 FHH 2 IXAN =} 1:23.08 1:23.47 2:46.55
11 116 066301 R BL3E B A 1:2497 1:2426 2:49.23
12 119 944588 JREE B A 1:24.54 1:24.78 2:49.32
13 121 108394 AL wE BHARK 1:24.18 1:25.36 2:49.54
14 112 126078 [k %22 F L 1:28.89 1:21.80 2:50.69
15 115 071508 HE@ [MFE WU 1:24.81 1:25.99 2:50.80
/ G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



FA-45mAR

F=870
JIERE AB=] =N BEE - 1R 2A&KH & 7

No No K4 Fr B 4 BF [ OBF M KR O
16 120 445189 #iH #H— JTEKT 1:25.74 1:25.37 2:51.11
17 117 016419 Fgta JfEe= N 1:28.86 1:27.97 2:56.83
18 124 120002 kHH fHE TATV 1:31.49 1:31.70 3:03.19
19 123 964066 AL Eih TR L 1:36.20 1:40.95 3:17.15

DID NOT START [1st RUN] 8

101 070855 #xH #H— TAT

103 026047 IR FEF] DENSO

108 084529 BJI| E =k B

110 891754 kMW #HE — A%

118 872650 HAHF fiw] AWSC

126 969322 fRiE  —H BB

127 079071 A IEWR B P e

129 060788 /|ME K 1B P e

DID NOT FINISH [1st RUN] 4

98 019210 M J=i AIl—A

100 062233 /NI % * F

105 943708  #A)I| b BE-IN

128 034877 EEJFH —p% WO

DISQUALIFIED [1st RUN] 0

DID NOT START [2nd RUN] 0

DID NOT FINISH [2nd RUN] 2

114 096004 A B U7

122 107803 FE #7] JTEKT

DISQUALIFIED [2nd RUN] 0

it =al B [l 2. ]
/ G8/ 2

DATA PROCESSING by SE I KO TIMING by SETKO



5735k AX PNEILR

NG SR
Tal— T =T — R
Hfrtgz ST (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y H 1213m
ks =y o [l 5] R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a—RAt X — TH SE [l B ] I— ATy H— A B (57 B ]
AIEH - A - = H [ %0] AiEH - A - =5 (5 50]
HiAESR - B - /N (5 %0] AiE#H - B - N (5 50]
piE#E - C - + 2 (5 %0] AiE#H - C - 1= (% %n]
TR %R 40 (40) A K — R 9:00 R %R 40 (40) A Z— [EFfE 11:45
P23 <HY e Soft KA <HD EY Soft
AR—hN/T7 4=y aKIR -3.1C / -2.1C AB—hN/T 4=y 2R -2.1°C / -0.3C
F=870
JIERT A4=h =V 1A 240 A& &
No No K4 B B 4 I~ 17 S |
1 130 148416 k&M 52— U~ LT 1:13.10 1:14.50 2:27.60
2 132 889001 T i Tl 1:15.93 1:16.22 2:32.15
3 133 013811 fHiE THkth — B A 1:16.27 1:18.03 2:34.30
4 136 891779  BE[A eSS W 1:19.15 1:18.83 2:37.98
4 135 090611 JEA HI wos 1:18.13 1:19.85 2:37.98
6 137 118962 it 1EF0 NN 1:20.57 1:19.85 2:40.42
7 138 014013 {FE  E JTEKT 1:22.53 1:22.27 2:44.80
8 139 109883 FIARK A B HE AR 1:22.75 1:24.84 2:47.59
9 148 938465 AAJI| fEHAE — BT A% 1:24.01 1:24.69 2:48.70
DID NOT START [1st RUN] 6
131 016139 f%H ‘Efh Y~
140 870227 g HhkE ¥ 7
142 891797 HE TE— VY
144 944560 UK BE BREIAR
/ G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



F+-35mAR

F=870
JIERE AB=] =N BEE - 1AH 2AH A& 3
No No K4 Fr B 4 BF [ OBF M KR O
145 957079 [AEF  KER AIl—A
147 120083 AA&F {EoT B H A K
DID NOT FINISH [1st RUN] 2
134 895183 #HmM #Hh& =V
143 071299 &AL )i JTEKT
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 1
141 101127 H9 |#=E Al—A
DID NOT FINISH [2nd RUN] 1
146 964067 |L3J % TR
DISQUALIFIED [2nd RUN] 0
it =an B [l 2. ]
/ G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



B 7255 AK PNEILR

NG SR
Doy — TUE=HNT =S
Hfrtgz RS (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y W 1213m
ks =y o 5Z=N R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a—RAt X — TH SE [l B ] a—At v H— A B (57 B ]
AIEH - A - = H [ %0] AiEH - A - =5 (5 50]
HiAESR - B - /N (5 %0] AiE#H - B - N (5 50]
piE#E - C - + 2 (5 %0] AiE#H - C - 1= (% %n]
TP % 40 (40) A A — R 9:00 TR % 40 (40) S AN 11:45
P23 <HY e Soft KA <HD EY Soft
2B —K/"T 4=y 2KIE -3.1°C / -2.1C 2B—K/T 4=y kIR -2.1°C / -0.3C
F=870
JIERT A4=h =V 1A 240 A& &
No No K4 B B 4 I~ 17 S |
1 149 083382 &H AT T r 1:18.15 1:19.15 2:37.30
2 158 929208 j=a 1B R 1:22.48 1:22.28 2:44.76
3 159 900576 gk - BHAR 1:23.84 1:2499 2:48.83
4 155 969332 HTFH K & E T 1:26.57 1:34.57 3:01.14
DID NOT START [1st RUN] 6
150 935493 HfE  {Eh 2 FH e
1561 450013 T# fith AWSC
152 872911 &7k FEE MOST
154 950031 2B ik Al—A
156 968790 JLEFA L Al—A
157 900542 VLK AR H — B A%
DID NOT FINISH [1st RUN] 1
153 913923 Kk Ef il Doing
/ G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



F+-25mAR

F=870
[[EV A BN =N BEE 1AH 2KH & i
No No K4 BB 4 S L I = L I = |
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
HEiRE B8 B [l 2. ]
/ G8/ 2

DATA PROCESSING by SE I KO TIMING by SET KO



